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Fifth Semester B.B.A. Degree Examinations
JANUARY/FEBRUARY 2024
(CBCS NEP SCHEME) b
PAPER: NME 0230: BANKING LAW AND PWTICE

Time: 2 hrs] [Max. Marks: 60

Instructions to Students:
aag@ﬂf;’/f TREITEO:

1. The students should legibly write Section number along with question numbers.
DEPPEN P Fofneodn Qe Jofovsy, JFmen wdabdedd.

2. The answer without Section number and question numbers will not be valued.
DR Wo2h Xy JB XoLneY Loy, SR CFOTRHIAY.

3. The question numbers should be legibly written with in margin only.
g Tojnedy IFeN SRLFSTY SR wdobeled.

SECTION -1
Polacy S §

L Select the most appropriate answer from the options provided ONE mark each: 10 x1 =10
8 FNS walnvon Jooked eFoT, GOk Lo, IR Lo wos:

I- 1) Which type of account is suitable for those who can save regularly and expect to carn

1-2)

a fair return on the deposits over a period of time?

a) Fixed Deposits account b) Regular Deposit accounts

¢) Recurring Deposit account d) Investment Deposit account

AohNITN  YOOTUOD BRBDIJOR Tone BeRINT e T,HOMTTT GO,
RORHIBOR oiT De3oDH 003000 AAYTNHIB?

a) 48 Bexed 2003 b) 003IT Bewed 003
c) WhBRT VeI 2003 d) Bes demed 3

The primary relatiénship between a banker and customer starts from the time

a) When customer visit the bank
b) When customer opens account
c) When customer visits that banks to made queries
d) All of the above
IR0B DI TRBEC. IDDT TRPNT FoW0HH) ZDOOOT TRBOWrRIFH.

3) rEREc WO et DA b) R swdabas, ST
©) TREIM WOTR Petd Jed TJrIv, Sevwon d) HedI aQRP
Contd............ 2
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I- 3) A savings bank account in the sole name of a minor can be opened when he completes

1- 4)

I- 5)

I- 6)

a) 10 years of age b) 12 years of age

c) 18 years of age d) 21 years of age
OTRID IZTe BIOTY WOITOD WIOHI, STOD T, PEF Sri3es?

a) 10 I=F b) 12 =R o

c) 18 SF d) 21 I=F

In executing the standing instructions, there exists relationship between
banker and customer.

a) Debtors and Creditor b) Bailor and Bailee

c) Trustee and Beneficiary d) Agent and Principal

TR0 RuIn, TODFABARRY Roworsy) w03t TR @&éaﬂ

Rt wc{,amgd.
a) oS ) IR b) 2T I 230D
©) FRFTEF D) FOODHD  d) T3 FY S0DF

When Garnishee order is issued by the court attaching the account of customer, then
the banker is called

a) Judgement Debtor b) Judgement Creditor

c) Garnishee d) Garnishor

TR®I0 3R TOWODH IFY TEBTI), deRWoN VOO ITY Q0T
BECHOTHIS.

a) T0H RHI XONRS b) Tyon AW IR

c) TRFde d) ™IFBRT”

The rule is followed in appropriation of accounts if neither debtor nor
creditor does not make any specific appropriation.

a) John Paget b) Kinlay

¢) Sheldon d) Clayton’s

WORT VBT WOTIDH  SRFBEe  AOFF QROIRENT,  BPBOGT IR
QR3RERTY QODTTR, ODROROHZH.

a) " Beade b) 3¢

c) 39 . d) Bewsy®

I- 7) To get statutory protection, paying banker must make

a) Payment to a holder b) Payment to a holder in due course
Contd............ 3
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c) Payment in due course d) Payment to a drawee in case of need

mﬁau% TERODI, BEODED, TWBEWT RVOIC TRBWeR.

2) BeeyTt WIOJ® b RO AHTIY mé‘%ﬁ )
) Roo3RE AROHRY TR d) GnIGS @R WIS .

I- 8) The safest form of crossing is

a) General crossing b) Special crossing
¢) Double crossing d) Account payee crossing

288y Besdro RVTEY TR
a) XOIRF, TeDd b) QJeR Sedeo
) Bwer Sedeo d) 23 R8wTT Seded

I- 9) A loan which remains NPA for a period less than or equal to 12 months is called

a) Standard asset b) Sub-Standard asset
c) Doubtful assets d) Loss asset

12 Sononod IBD YT ITPSTT  WIOORIVR  FOORNF AT LIOIH mvsébq
Q0TH DR,

2) BRI A b) 3¢ w3
) ROBOIPITW & d) I Beods ©y

I- 10) What is the major function performed by the ATMs in worldwide?

a) Passbook update facility b) Cash withdrawal
¢) Mini statement facility d) Funds transfer facility

Q.20 a%m‘adsos AVFLRT TTND TODF 03TOH?

a) X" W IV POy b) Inw LoTBoINDF

©) Xog Wty oy d) B Imeras Pogy

SECTION - 11
gen - 11

II.  Answer any FIVE of the following questions, THREE marks each: 5%x3=15
FNS axpYerte P JHAON (Il J3cieomas St GousL: ’

II-1) What do you mean by customer of a bank?
WROT TBT D0TIEH?

Contd............ 4
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I1-2) Who is lunatic?
20, e 20T 03eTH?

II-3) Give the meaning of material alteration of cheque.
B33 a?a%s WEOITBOD VFPFII), 0B

IT1-4) Who is a paying banker?
TOWERT mdosc‘ 033T?

II-5) What do you mean by MICR?
MICR @owges?

II[-6) What are non performing assets (NPA)?
ODTITT By F0WSeDH?

11-7) Give the meaning of EMI.
EMIod ogras, sea.

II-8) Whatdo you mean by Endorsement?
HOWTHB HOTBE?

SECTION - III
g7 ~ 111

III.  Answer any THREE of the following, each carries FIVE Marks: ©3x5=15
oXoYETde Bt gg;rwr VI0[ I 25 YOFIIY:

III- 1) Distinguish between general lien and particular lien.
BT, WPEIT T, Torte JOFFY MPeST TYNY IBDOS SFTINT0YY?

III- 2) What precautions should a banker take while opening a Joint Stock Company
Account?
BOTAND 05" 030D, 003D FOWPFHY wWR80° IrTBRYWeTr woownd

FneRyR? .

Il - 3) Narrate any five significant reason for the dishonour of cheques.
aiﬁ%ﬁ'iabi 3070TLD JATW BPFTTBR DW ORI, DZORO.

Il - 4) Explain the principles of lending.
IROTOS WO JeBIOH YO IRy IWORD.

Il - 5) Briefly analyse features and benefits of BHIM App.
BHIM 023e35'3 b3 v 303 Yodnensnyay, Rogmmon dfear.

Contd............ 5




image10.jpeg
QP CODE 33523 Page No... 5

SECTION - IV h
Qg0 - IV
IV.  Answer the following questions, TEN marks each: % 2x10=20

NS Zgrer ev3os, 3o 10 wosnsh:

VI- 1) Who is a Banker? Explain General relationship of banker and customer.
mdowf P03 03TB? I msg méowa me xouoz:a:»* DTWOR.

OR o3

Give the meaning of crossing. Explain types of crossing.
Bedro DOWBeN? NG oD dca)t-amdaso_\ DWOA.

VI- 2) Write an explanatory note on
QTTHZF T8 2B,

a) Garnishee order
TORF A @,

b) Protection to paying banker
TR 39,0303 631‘571%

OR &3

Explain the types and Instruments used in ATM operations.
RE.QOT DG JFORLD Tone FODF ITVFLILY WIYRT LVTLTeny Wi AROA.

* ok k ok k ¥ %
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Fifth Semester B.B.A. Degree Examinations

JANUARY/FEBRUARY 2024
(CBCS NEP SCHEME)
PAPER: NME 0210: PRODUCTION AND OPERATION [AGEMENT
Time: 2 hrs] [Max. Marks: 60

Instructions to Students:
ang.@rn‘m’ ZReISned:

1. The students should legibly write Section number along with question numbers.
DTPEY ) Moagmleodrt Dgor Ho2Fob&Y, FHToN exdcbedes.

2. The answer without Section number and question numbers will not be valued,
Qgrt Tz VX Y Joanegs evgonesy, SR F0TIOIAY.

3. The question numbers should be legibly written with in margin only.
9, Tojnieist, Fgen SRS D T3 wocdiles.

SECTION - I
g ~ 1
L Select the most appropriate answer from the options provided ONE mark each: 10 x1 = 10
8 N ealnvor Moot NIOTL, O w0, I 2.omd wor:

I-1) refers to the manufacturing process in which components are produced in
groups and not in a continuous stream.

a) Job shop production b) Batch production
& ¢) Mass production d) Continuous production
OO Fohohy  Puknw  oITTN  evEsEROIHRS oYY
ZTIcRrHIT.

a) 2’ ToT'/ T NZBI b) R BT
) mIks oI d) RKo3s wEEs

I-2) is the geographical area where the plant will operate to produce goods or

services.
a) Plant layout b) Plant location
¢) Control chart d) Quality control

OB DB ﬂ(dﬂ@é&; WHDOILY  ToODFATF & IT  PrReces - TEesm,
) Y £ T 2

SZT.

Cond............ 2
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a) RIS DR b) my=s 3
c) oo I3 d) rdrozey doHoZre

I- 3) The physical arrangement of machinery, equipment and%ner industrial facilities to
achieve quickest production with list cost is '

a) Production b) Plant location
c) Plant layout d) Inventory
3 ;Sz;scimo!bﬁ gps QBBIONTY, FOPRLY BB 0D0ZRLTFVEND, YVTFTLONIR

DL, AT ﬁdmbw Pogne 2083 aiéwio&e

a) WITI b) T S
) MIT DR d) wome®
I-4) is the process of converting a general or outline plan for a project into a time
—based graphic presentation.
a) Scheduling b) Planning
¢) Work-in-Progress d) Inventory

TOTIRY WY FDODT DWOFFNRR0OR 2,08 TRRFT ToRF,; 03eewd
epoe SrEdeSods), Xadod $pe0d MPT JWIoweN [OBSF T TFodasAT.

a) Bewoty b) cdwend
€) TIoPYDS oI d) xR

I- 5) The use of statistical methods in monitoring and maintaining the quality of products
and services is

a) Quality assurance b) Quality circle

¢) Statistical quality control d) Control chart

QOIIo T Redne  mdrosows abet?,u‘ad:% DY) IVFBBODY, xoaméemieom
QoINS wﬁ#ﬁp&)&ﬁa 2,ZT.

a) sty HOTB b) rorEym Mo
c) Rosz aa::;oﬁ: s dobogpe  d) doNoe S%I

I- 6) Theterm means to keep the equipment in operation and condition or repair it
to its operational mode.
a) Maintenance 2 b) Scheduling
c) Inspection d) Quality

Contd............ 3
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1-7)

I-38)

1-9)

I-10)

“0TIT[R,  FooITRF WTTOD RB0DQ BRBRRZT FT " sosmradsaD DTG
0TI, TOTRRPYD” D0 VFF RS T

a) Rosys b) Sevomty %
c) 3ISB d) ooy K s

is the collection, transport, processing or disposal managing and monitoring
of waste materials.

a) Inventory management b) Waste management

¢) Transportation d) Planning

K SPAY Fon®s, WL, 0PN e SO A[FIH I
BoeDpsosEEotoNs.

a) X ARFIH b) =g dATFTS
¢) s d) odwexs

is the order quantity that minimizes total inventory holding costs and
ordering costs.

a) ABC analysis b) FSN analysis
¢) EOQ - Economic Order Quantity d) TQM

Com et By wha kRS0 Sgnvs, 10 o vk T,
2FT.

a) ABC o3emss b) FSN o3exirs

¢) EOQ-wu6rs uded Imneo  d) 301 Tty ATFBH

The costs incurred for the purchase of raw materials from the suppliers is known as

a) Carrying cost b) Stock-out cost

¢) Ordering cost d) Marketing cost
mddiaadaod B IWNE DOeOR Iriews mgaabi QOTH FEODRHIT.
2) LRIV Bz b) mEFRe By
©) oTed B3 d) =wooge 3y

is the intentional movement of air from outside a building to the inside.
a) Ventilation b) Sanitation
¢) Air conditioning d) Lightning
Contd............ 4
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YRS BRONOB w98 TRYOD uTded TPRFS WOSoINE.

a) BT b) IRFDesTe0
c) TR0 d) S %
SECTION - II )
Qg - 11
II.  Answer any FIVE of the following questions, THREE marks each: 5%x3=15

TN adRY@amde md g%n‘:’n’ 3oL, gioi/aod&'@ hedh @oFmed:
II- 1) Briefly write the production system.

QUTTT JIFOH DO Fo3WemeN wTBED.
II-2) What are the objectives of production planning and con.rol?

OB CReed [ AOOFT VR eBRSeR?

II-3) Briefly explain the types of Waste.
a'%zrsts &)z;imab_l xoggmn DTON.

11-4) State the uses of control charts.
QoDoZe SHIoH wmo&meﬂﬂ@&i SN,

II-5) What are the types of facilities?
Rogne IR o3RR?
II-6) Whatis ABC analysis?
QDY DFeRB HoTTeD?

II-7) What are the objectives of inventory management?
TR DBFBBOD VG EBRW oI0YY?

II-8) Givethe mea:iing of maintenance scheduling and also state its techniques.
Roogsod wBeamigod VHFS, ded ) Yus 3o3nYRy 30k

SECTION - III
g — I

III. Answer any THREE of the following, each carries FIVE Marks: 3x5=15
aRREREIce SR YN (WIoL Feo b LoT:

III- 1) What are the differences between production and operation management?
NTTT ITFBH DY) F0INF WO ATFIHAY qmﬁﬂécm?

Contd............ 5
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Il - 2) What are the responsibilities of a production manager? -~
UTTTO DTFTII WL ONTeH?

Il - 3) Briefly explain the principles of plant layout.
m@ﬁd QAT IINTR, Bogaamon DO, %

I - 4) What are the modern scientific methods of maintenance? i .
[IES q’ugaﬁ ﬁodgﬁ QTOINGD 03R)T)?

111 - 5) Write a short note on ‘Total Quality Management (TQM)’.
Ry rheowon) AFFHE HO 03T LIFF 0.

SECTION - IV
g = IV

1V. Answer the following quest.ons, TEN marks each: 2x10=20
NS Zgner ev3os, Iew 10 vosnsh:

VI- 1) i) Explain the types of production with merits and demerits of each.
SUTTION APRYRY, VTS VTPOY T OIOZIROINAROOR DTOA.

OR oz

ii) Explain the different stages of production planning and control.
VT cdeend WY VoHOFRE TOINI, DT[OA.

VI- 2) i) Give the meaning of Plant Location. Explain the factors affecting plant location
decision.
IS WIS OFF WTBOWO. T TS Seatr I Fet TOFRD WedTW WOBNT),

QTOA.
OR o3

i) Explain the types of maintenance and write its advantages and disadvantages.
k’odgﬁoﬁ QFRIR, dJOX DL T803R0TWT VBRI I ©TIRBROING), DTOR.

* %k k k k * ¥
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Fifth Semester B.B.A. Degree Examinations
JANUARY/FEBRUARY 2024

(CBCS NEP SCHEME) :
PAPER: NME 0310: DIGITAL MARKETING .
Time: 2 hrs] [Max. Marks: 60
Instructions to Students: ‘
ng.aﬁwn’ RReITneh:

1. The students should l;gibly write Section number along with question numbers.
DEPENED g.g z’o;yrdfaoo/f Qg7 oo, YN edavedes.

2. The answer without Section number and question numbers will not be valued.
Qg Jof B ) ToLNYE SFoNRY PG cFOTTRMIOY.

3. The question numbers should be legibly written with in margin only.
JY, Doy, Fgoon osrArSY og wdebdes,

SECTION -1
PIACY S §

Select the most appropriate answer from the options provided ONE mark each: 10 x1 =10
& NN ealnivon ToRE SR, S0y w000, 3 tomd wor:

I-1) are used in digital marketing.
a) Electronic devices b) Internet
c) Bothaandb d) None of the above

BRRS® [WRIFLONTIY WIS,
a) QRIS TFIND b) woudrer
€) @ D B TR d) I3 cInPTe Yy

I- 2) What is the full form of SEM?

a) Social Engine Marketing b) Search Engine Marketing
c) Search Engine Management d) Social Engine Management

SEMS TReorGRd® o3omymd

a) Redoder RERT [EFLON b) XesE oy’ Sesrtiont
C) REF Q0B SnIesrsdor  d) Reedodor qoRar BRSeesrsdo’

Contd............ 2
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I-3)

I- 4)

I-5)

I-6)

- 7)

is/are the main component(s) of Digital Marketing.

a) SEO b) SMO %

c) SEM d) All of the above %
RBRS® JIFLON'I I woB GNB.

a) SEO b) SMO

c) SEM d) e e

Which social network is considered the most popular for social media marketing?

a) Twitter b) Face book
c) LinkedIn d) WhatsApp

RTPRT BRI BPFFLONTR 03RB RPN ST 5?3% BILODTONE DO
SonedxeRNa.

a) 38307 b) Pezds*
©) ogtas* d)
How many types of pillars do we have in digital marketing?

a) 1 b) 2
o 3 d) 4

AR’ SRFLon” IQ Y o dedod FoRNIR, BRODT L.
a) 1 b) 2
c) 3 d) 4

Google Adwords is also known as

a) Google words b) Google one

c) Google Ads d) Google marketing
nene® saEITF 0T FBHTEHIB

a) nene’ TIJnd b) nenes L

C) RANY® &eTNRLD d) nene* Svedreiont

Which of the following is an important factor in creating engaging YouTube content?

a) Consistency bj Length
c) Quality d) Quantity

Contd............ 3
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BONFYNUY osomcd DR, DTHE IPBNLZARTY TN ST,
a) 303 b) oo, 3
¢) rhreabyy d) oo %

I- 8) The user session can be identified by the

a) Authenticate users b) IP address
c) User agent d) All of the above
2930088 ©TRONI, RO RTSTWTIRD.

a) wYITROoRY, BRFOVIT  b) IP dvon
c) wYEmes D¥oLF d) ed3 dup

I- 9) Which of the following comes under Email marketing?

a) Email news letters b) Head nurturing
¢) Digests d) All of the above

FWNIYNIY RPYD 3-oee IIFLONT SBADY LIS,

a) Boem FWONYR, ae® Ind  b) IS Beews

o) x| d) I3 aup
[-10) ____ Whatis the full form of PPC pages?

a) Per pay click b) Pay per click

c) Prize per click d) None of the above

PPC une Fpror o3mommd.

a) To° Je 37 b) @e Jo* g7
) Bewr T g d) Seds bR ©Y
SECTION - I
ogen - I
II.  Answer any FIVE of the following questions, THREE marks each: 5x3=15

FNS aRYREIas 80 gg;rq;r VI03, Foo eth GorTeh:

I1-1) What is digital marketing?
BRI Fedrtion DowBed?

Contd............ 4
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I[-2) What is meant by quick sprout?
308 Rp¥d H0Tde?

11-3) Explain the types of display Ads.
TWBFS PLeTORDNY TFORY, DHTO.

1I-4) What do you mean by YouTube advertising?
ORRLRL’ LTDST OTF[e.

II-5) Write the elements of social media marketing?
MTRET DR WRFFLONS woBRY, WIWO.

II-6) Discuss the benefits of Google AdWords.
RN SEHETFS BodnewIndmy, wura.

II-7) Give the meaning of open rates and CTR E-mail.
SoFW3NRD &) CTR a-sdee OBFII), Jed.

I1-8) What are the kinds of Traffic?
CS&Z{%Q‘SD TFORD 30R)H?

SECTION - III
g — 11T

III.  Answer any THREE of the following questions, FIVE marks each:
aRYRe e Jgnon ev30% o b osh:

IIT- 1) Explain the needs of Digital Marketing.
BBLO" TRIFUONT VMR, DT

III - 2) Write the types of SEO search engine optimization.
SEO R goua® wamyfess s TFoORIR, wBoNd.

III- 3) Explain the fundamentals of Google Adwords.
RANY SEIEFS BRORRI ©OBNIR, DTOR.

III - 4) Describe the importance of Web Analytics.
i OPOUTS @maagommi QTOA.

HI- 5) Discuss the advantages and disadvantages of YouTube advertising?
ORRWRLT 200eTIT VBRI S0 emaﬁaﬁmomm‘i 238F .

Page No... 4

Ix5=15

Contd............ 5
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SECTION - IV

g - IV
IV.  Answer the following questions, TEN marks each: 2x10=20
PN Fgmen evgos, dew 10 soass:

VI- 1) Define email marketing. Explain the importance of email marketing.
9-aDee” TRIFLONT B, YA, B-TeS” JRFFLON'S TR DBONZ, DFOR.

OR &3

Write brief notes on:
B3 3SNTHLRITT BOB Xiogai &Sairé 203000.

a) Twitter marketing
$H0° SedFEoT

b) Facebook marketing
ﬁc:‘%ﬁ‘ IoBFLIoNT

c) Instagram marketing
QY MO oo edon”

VI- 2) Whatis Google Adwords? Explain the benefits of Google Adwords.
RANS® SETIFF 2000eDH? RN SEBFFI Fodeewsnvay, A0

OR 5=
ii) Define site map creators. Explain advantages and disadvantages of site map creators.

R ST SRIT'IW, TR AT SR SBITOT SHRRORD B3
OTODERONIRY, DTOR.

% %k %k ok ok k ok
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Fifth Semester B.B.A. Degree Examinations
JANUARY/FEBRUARY 2024 .
(CBCS NEP SCHEME) m
PAPER: NME 0250: CONSUMER BEHAVIO i
Time: 2 hrs] [Max. Marks: 60

Instructions to Students:
aag@ﬂrvﬁ BReIneh:

1. The students should legibly write Section number along with question numbers.
DTPEND Y Vo Meonn Qgen Tofadsl, N edaveies.

2. The answer without Section number and question numbers will not be valued.
DR T2k 13 Jg FoRNYYE IO, S EOTIMIDL.

3. The question numbers should be legibly written with in margin only.
Y Toxgst, FFoEN AR 0 wdabiled,

SECTION -1
g -1

L Select the most appropriate answer from the options provided ONE mark each: 10 x1 =10
& NS walnvor Joakes evIoS, ¢0L 2000, IR Lo ¢oF:

I- 1) Any individual who purchases goods and services from the market for his/her end use

is called a

a) Customer b) Marketer

c) Competitors d) General public

wy) W SRDIE0D IRMURY, 37, J03 WUSR D0OITG, VI, S0
BB03VTT.

a) M®3 b) Swoowned

€) TIIOF d) oy, w33

I- 2) Which of the following is the reason for customer dissatisfaction?

a) Product quality b) Defects in product

c) Packaging of product d) After sales service of the product
& SONTYNYY oA MRBIS LA WOPTNGS?

a) SROS reoTdE b) SROIYHT Bt

©) rheoym BHNE d) BRHNT [IPoLT S0ITT Bess

Contd............ 2
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I-3).

1- 4)

I-5)

1- 6)

I-7)

A consumer buying behaviour is influenced by

a) Cultural and social factors ~ b) Government factdré
c) Political factors d) All the above 13
TRFEI0 DOD SI[eLCL, B NS BT ARCHOOT BededATNS?

a) TOR 8% FH) WRPAT YOBRD b) REFO ©o3risd
c) Tozdeod ©O3NW d) eI ayp

Which of the following is the first stage in the consumer decision making process?

a) Purchase decision b) Evolution of alternatives
c) Post purchase evolution d) Need recognition

BINSYNYY 0P MRFIS D0D AFFSE BRTO ToITONTI

a) DOROD JIPOFT b) Zodzerod TOONYR, BOCFDHJTH
) 200eB0H 03T BODEFS d) ocockh Lr3BRy, LTHIRRID

Which of these is not the model of consumer decision making

a) Learning model b) Economic model
¢) Satisfaction model d) Social logical model

APNYY PR EFY DFRFC IRENT IRBOCHY

a) 300D [P0 b) @qﬁ?aaics FTO
) 3 RN d) =8 IRcO

Reference group of consumers include

a) Family, friends, work groups

b) Politicians, competitors, Suppliers

¢) Middleman, work groups, wholesalers

d) Businessman, Government and politician

RRIT euged THOT o), weReoRA.

a) 0w, KYoHD, FBEEBRLNNWD

b) oowzeoHs, B3%RF, BedEnes

©) WFIEF, FBRCTBRENNWD, BNLd TITPOND
d) oo, X5oFT, Towsasd

Customer satisfaction is a

a) Confused feeling about the product b) Neutrai feeling about the product
c) Happy feeling about the product d) Sad feeling about the product

Contd....
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2) IDIT WANHT HDTPIF I3 b) IR Dﬁm“@?}% OIS

©) INOT WANGHS Dacind = d) BRI RS

I- 8) External flavour of consumer behaviour include

a) Needs and motivation b) Perception and personality

¢) Cultural and social class d) Learning and memory
éﬁhﬁ@ﬂﬁig O3RN RFTE IBO3NT 5&\?‘0'13 ?ES& ©03TONTY

a) ong, B Jeos b) mEs @ B,
) MOR BT I MRS TniF d) 398 3y 3o

I-9) Which one of the fol'owing factor is not influenced by culture?

a) Language b) Food

¢) Religion d) Age
81 FINIRRSQY 3T ©o3Y) m‘ox‘,’déomocs Tdea3any?
a) PR b) sze0
o) adrF d) Sowmy

I- 10) Who is the king of modern market?
a) Marketer b) Customer
c) Supplier d) Competitors
ClaStsL) mmse.gos; Tz 0370809

a) Jooowred b) mzs
©) Tndgrd d) T3ZOF
SECTION - II
Pl S 1 §

II.  Answer any FIVE of the following questions, THREE marks each:
NS ctnayeeade omb gner ewgos, F3akeomin cbecd eosme:

II-1) What is consumer behaviour?
T IBRYE 20T3eH?

II-2) Whatdo you mean by consumer dissatisfaction?
BT ¥R 0TI

II-3) What do you mean by consumer research process?
B3 XoBeeET TFoDH HomBed?

Page No... 3

FEV A RRARV]

5x3=15
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I1-4) Mention any three nature of consumer attitude.
TBI0 JIFS0D FRdd THEeoFrnYR), WB0d.

II-5) Whatis Consumerism? !
TRBIY, D0TTeH? %

II-6) Whatis consumer perception? o
TXBT R&E DomTeD?

II-7) Write any three needs to study consumer behaviour.
TRBI0 IBBPFOHT), S90HeD BeToNTha DT BRIRYRY, WSWO.

IT-8) What is consumer reference groups?
mBTC evgesd roonPonBed?

SECTION - III
g - 11
IIl. Answer any THREE of the following questions, FIVE marks each: 3x5=15
QRIS gajﬂe’n’ WIOH I LI GOFMED:
III - 1) Explain the levels of consumers decision making process.
MBS AoF S TFOHoDH BOINGR), DZOR.

III - 2) What are the sources of consumers dissatisfaction.
EIC LA T0RTE FRONTI, DTOX.

II - 3) Explain the steps in consumer attitude formation.
TREIC S3FS CHTARWT BOIHYR, IO,

1II- 4) Explain consumer perception.
MFET REdod BB DWOA.

III - 5) Explain the measures to deal with consumer complaints.
RFEIC BRDNYD, VAT IHDEAWT TRV, HFOR.

SECTION ~ IV
e - IV
IV.  Answer the following questions, TEN marks each: 2x10=20
#NS ggmen ew3os, sew 10 osmsd:

VI- 1) i) What is consumer behaviour? Explain the factors influencing consumer behaviour.
RBY 3B[OF Q0G0 MMBIC SEIVIR BeBeATTND SoBRIR, IFOR.

OR &3
ii) What is consumerism? Explain the reasons for growth of consumerism in India.
RBYY, Q0nBed?’ FOOIBY MBI, BI[I ToTrontvRy, wBoWO.

VI- 2) i) What is consumer decision making process? Explain the models of consumer decision
making process.

mE3 JGRFT B Q0TTeH? MEBIC AGRFT BIoHod BRHONIIY, H[OR.
OR ¥3=®

ii) Explain the family-and cultural influence on consumer behaviour.
B8 IRB@eE S BDWOWNOT Torne ﬁo"%émou VORI TOFOTORI, L3B00D.

* % % ok ok ok %k
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Fifth Semester B.B.A. Degree Examinations
JANUARY/FEBRUARY 2024
(CBCS NEP SCHEME)
PAPER: NME 0260: COMPENSATIO .
AND PERFORMANCE MANAGEMENT

Time: 2 hrs] [Max. Marks: 60

Instructions to Students:
DTBPENON Wo2sSnsd:

1. The students should legibly write Section number along with question numbers.
QTP Zg Jogmeonrn g OB, FHIoN edabedez:.

2. The answer without Section number and question numbers will not be valued,
DRI 502 2% I MO oy PGB ]

3. The question numbers should be legibly written with in margin only.
TG Doty HYN o) g wdavies,

SECTION -~ 1
gy - 1

L Select the most appropriate answer from the options provided ONE mark each: 10 x1 = 10
8 NS walymvon xeates NIOTY, 0% WO, Iw sob wos:

I- 1) _ give psychological satisfaction to employees even when financial benefits
are not available
a) Monetary Benefits b) Incentives
¢) Non-monetary benefits d) All the above

W00 wOFE YolacwAiv AROGTR, SRINY GaoDRy, LA,

a) D3eod TJodeemInsd b) Fpcmansd
©) DIoHTT Todeesdnd  d) oS ayw

I-2) is the lump sum benefit paid to retain employees by employer.
a) Fringe benefits b) Provident fund
) Variable pay d) Gratuity

BRI IFFoAdT PIOR BRI Lwoe B33 FodemEned Lom

a) OTFI CoPnRh b) BaT 2
¢) Beoodwer Pe3 d) Beew BRI B
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I- 3) A premium bonus plan where bonus hours are calculated in proportion to the time

taken. It is profounded by

a) Rowan plan b) Hasley-Weire plan

¢) Hasley premium plan d) Time right system

BpeIx odnezBodm), BreIT nodnsd Y IRwdeoR WD @&m:«!cﬁ;g S
TBRDIT, AR, BTOITID

a) Bpemy cdeesd b) @ Beodo® odneess
C) TS QeWoDO o3eexd d) ¥z Betr odnensd
I- 4) This methods of appraisal and all — round approach is adopted in

a) MB.O b) 360" appraisal
¢) Essay appraisal method d) Straight ranking methods

3Q 8 IR FPTI FD DR 2oy WSS ©TOGTORN VITRABLORTYT.

a) M.B.O b) 360" SRR
©) Tpogk IPYJPTI I d) Sea 3eados B

I- 5) Types of feedback at the work place is

a) Appreciation b) Criticism

¢) Evaluation d) All the above
033 39TY T3soPhoH FRHOOW ong.
2) gyt b) e

¢) BPOTRTI d) Bed3 agIP

I- 6) One of the stages of team development is
a) Forming b) Norming
¢) Slorming d) All the above
30dT SRR QD BOINYY 2.0wH
a) CRARDE b) SRR APARAWII
C) WMWY d) BedS 2P

I- 7) One of the compensation philosophies is

a) Timepay - b) Price pay
c) Joint pay d) None of the above

(0717, [ 3
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ajeresnied 3%{1% TITON

a) Roodh BeII b) o B3I
. o) mow s d) oI By %
I- 8) Grant task and bonus system was given by
a) F.W Taylor b) H.L Gantt
¢) Henry Fayol d) Karl Marx

MOk Tod) BReRt FIRAUS, RATIH

a) OF BUY, BT b) B o MmO
c) B Podeeer d) ®oF s

1- 9) The payment of Borus Act was passed in the year

a) 1952 b) 1964

¢) 1965 d) 1969
BReIT FoRH oY, TIRFBY ORISR0,
a) 1952 b) 1964
c) 1965 d) 1969

I- 10) Prevailing market rate is also known as
a) Comparable wage b) Living wage
c) Labour wage d) Payment cycle
0O IR0IL, BECHRY, e ToINT3

a) IVRITT BeII b) 2emT Se3T
C) TWFT [T d) oz 33
SECTION - II
g ~- 11
II.  Answer any FIVE of the following questions, THREE marks each: 5%x3=15

FNT apymere prb ZIner ew3os, Foleomsn Sedh eosh:

II-1) Write a note on virtual teams.
RDFTST F0BRY BOB> 2,000 T3 WBEWO.

I1-2) Explain the types of intrinsic rewards and extrinsic rewards.
% Bodeend DPRH Tone VoINFS BoSpenand PRI, WO

Contd............ 4





image28.jpeg
QP CODE 33526 Page No... 4
II-3) Explain the types of compensation strategies.
Y WoZOT I0¢ HFRIR, IWOR.

1I-4) Who are the members consisting in the job evaluation?
3R d\i‘ae)éma‘)ﬁ EPAETeW) ?ddz:“éd) 035T?

II-5) Explain the concept of wages. %
Be3TT mbigﬁmﬂg DO,

I1-6) Write a note on performance management.
FODFERT ITFBBOD Hoed £33 2080200,

II-7) Explain the types of ESOPs.
ESOP PRI, DTOR.

II-8) What is overtime wages?
| BRHTO TIODT [eIT DOTBeR?

SECTION - III
g — I

III.  Answer any THREE of the following, each carries FIVE Mars: 3x5=15
olReYIende SRTh g‘gﬁwf VIO I b WOFTH:

III- 1) Write a note on 3-P concept in compensation management.
3 - P T3l Hoed IS wdowo.

III- 2) Explain the various incentive schemes.
QDG FpegoB 03RERINTRY, DFOA.

III- 3) Explain the objectives of job evolution.
OB SPOTPTIT NZEBTI, DTOR.

11 - 4) Describe the types of feedback at the workplace.
3033 RYTOF TYEoDOD DFRYIY DTOR.

IIL- 5) Explain the types of pension plans in India.
RT3 2023 odnendne PNV, DZOR.

SECTION - IV
g - IV
IV.  Answer the following questions, TEN marks each: 2x10=20
Fons Zgnen evgos, sew 10 wosrss:

VI- 1) What is the job evaluation? Explain the merits and demerits of job evaluation.
30RT IPO[RTI 20TBTeDH? FOIT BPOTPUTE SNBLOZ I TNV QTOR.

OR o=

Define salary. Explain the characteristics of salary.
HowyRorgesd? TowWr MPOFLRIRY, DBOR.

VI- 2) What is performance management? Explain the importance of performance
management.

FO0DFFZ DOWBe? FOOPFFIDI IFBEROD DTS, QIO
OR &3

Write a note on compensation management in multinational organisation (MNCs).
FAE ca%ecm BOTANY BorRI ARFBROD Wi} LTEd 23B0%00.

* % ok ¥ ok k ok
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Fifth Semester BBA/BBM Degree Examinations

January / February 2024
(2013-14 Scheme)
BME420 : Techniques For Business Decisions -%
Time : 3 hrs.] [Max.Marks : 8(‘)
SECTION-A ayon "a"

L Answer any THREE of the following. S Marks Each.

BRRTTTR IWS F3, et €03, 08, 3o § vosneh 3X5=15

1. Define average and mention the requisites of a good average.

ROIROOHRo, T0pT0DN ), YU, ROIROH OFFANTR, 308,

2. What are the limitations of statistics ?

R0200,T0%,T SNSRI ?
3. From the following data, find the values of Median, lower quartile and upper
quartiles.
81 89dor mmwéw, DGB, P BIFFE DIy, 3, 3e0H WIPFT TPO,NTR,
BoRIHROND,
Bowley’s coefficient of skewness 0.35
WPSoRT DAFIoH Roees

Sum of upper and lower quartiles 120
IR DX, 3, 3e0 WAGFHNY B,
Difference between upper and lower quartiles | 40
TP T, 3,3¢0 WAFFTE IR 3048

4. Draw a Histogram and locate mode graphically from the following data.
ONT TOR00W word UX,3, Nowds WYWI, TR, WHHI ITIRO0HI,
BoRoBHR0WD,
Marks ogrih | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of Students
DPFNY HoBy | S 16 22 35 25 15

5. Calculate geometric mean from the following data.
B 89807 0,800% Thdeed,0  KOVKOOHRY, BoE2R0ND,

Values
@Po,nsh | 2000 | 35.52 0.4 1 15| 0.15 ] 300 | 6 | 0:008 | 250.32

Contd...2
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1I.

6.

I

10.

SECTION - B axgont "y

Answer any TWO of the following questions. 10 Marks each

OIFTIWOR WTCF H3, Mo w300, 3o 10 Bosn%, 2X10=20
Define Statistics. Explain the functions of statistics. &
RO, TIR, TR, TOpSIRN. KOSTDTOR,T TIORFTIVR,, SWOR.,
Calculate Karlpearson’s co-efficient of skewness from the following data.

509,,F000° BFF TRT  QWIDI3OD TSN, BoBBDROND,

Marks 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65 | 65-75 | 75-85 | 85-95
@osned

No. of Students 15 9 11 13 14 16 30 12 0
DFRFNY Noady
Calculate Quadrille deviation and its co-efficient from the following data :

81 U808 TX00W  WFFE  DWOS DI, UWIFPFE QWOIH  MEOTER,
Bozo2R0N0,

Wages(Rs) 0-9 | 10-19 | 20-29 | 30-39 | 4049 | 50-59 | 60-69 | 70-79
Sl 7o ()

No. of Students | 10 | 20 25 15 12 8 6 4
PR Kosdy

A college organized a trip to Bengaluru. 80 persons participated in the trip and each
of whom contributed Rs. 6,000 on theaverage. There were 60 students, each of

whom paid Rs. 6250. The members of teaching staff were charged at a higher rate.
The number of servants were 6, all male and they were not charged anything. The
number of females were 20% of the total, of which one was a lady staff member.
Tabulate the above information by giving a suitable title.

WOTN TS BB, DILPNONR Wore Rt TyToR DTFRAT,, WTLD.., Wi, 80 3
PNRBAT,, DH30kow),, ROIXOKPN Tw 6,000 WD, BwwsaS., 60
DIPTIOT,,  H308oL,T 6,250 TRINDD, 0O, GrEE BT
200001 Btk 6o TOBIRWBeTTII,T, VL, 6 TR AeRIOB, WWOR CTIe
0e30% TD TRS ACTYO,. Whidy RoBe0H Be 20 TRy DoLLOLTNGD, SO,
22,3 TP AWOHOTINTTVLT.

Rog, delrfod RN, ew40R B0 [ed, 530 INA,
SECTION-C ayon "a"

Answer any THREE of the following. 15 marks each
CIRHITTH Fowdd TBAON V3,08, 3TO 15 Bosrth 3X15=45

What do you mean by “Classification” and “Tabulation” ? Explain the parts ofa
statistical table.

“W[REFBTED TBY, “Te3, 0800 DOWBER ? TO0LyE T3 0D DG PonnPRo, WO,
. Contd...3
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11. Calculate Mean, Median, Mode and Standard Deviation ‘from the following data.

89803@ T, R00T Ned3 XOORO, THhd, WTIVE KOURO W3y, 0D WO,

B0T&BON0,

Life(in Hours) | 0- | 400-800 | 800-1200 | 1200-1600 | 1600-2 2000-2400 [2400-2800] 2800-3200
So8nsy koo :

No. of Students | 4 12 40 41 27 |7 13 9 - 3
REosRFT¥R08,

12. Calculate Bowley’s coefficient of skewness from the following data.
BUNT §9,4% LVTOIRENR, WRSTHT HARB0H oL, BoBZDROND,

Mid point | 115 { 125 | 135 | 145 | 155 | 165 [ 175 | 185 | 195
OG0T

Frequency | 6 | 25 | 48 | 72 |116| 60 | 38 [ 22 | 3
3,3,

13. Following table gives age distribution of students admitted ina college during
the year 2018 and 2019. Find which of the two groups is more variable in age.
UseC.V. =

B8 89807 SNHIWN 2,080 BRIV, 2018 &3y, 2019 V¢ WOID,., FeDod IET
QTIPS TODANRA BoWoRAT, 0INT  TodT WP [oDY, T, Bty
QWOR I3 DOWITI0,, DWOT 8 VTO3RENR ForBHROND,

Age (In years) Number of Admissions
Sahz, SRFATS,, Yalemosot Tosls
2018 2019

17 1 6
18 3 22
19 8 34
20 12 40
21 14 32
22 14 20
23 5 16
24 3 9
25 2 3

14. Present the following data by percentage subdivided bar diagram.
81 BUNT T0,R008 BeBRTOTO NPT Loy VeoBZT, JSTOX,

Commodities Monthly Expenditure (Rs)
) TONE DUF (B)

Family ‘X' | Family Y’ | Family ‘Z'

BOE30W BoE320W BoE3OW
Food &30 4,000 6,000 16,000
Rent woan 2,000 4,000 15,000
Clothing W3y 2,000 3,000 10,000
Education 3§ 1,000 4,000 8,000
Lighting ¢80 500 1,000 3,000
Others 88 500 2,000 8,000

*k ok Kk Kk
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Fifth Semester B.B.A. Degree Examinations
JANUARY/FEBRUARY 2024
(CBCS NEP SCHEME)
PAPER: NME 0220: INCOME TAX - B

Time: 2 hrs] [Max. Marks: 60

Instructions to Students:
Qng.@rmm’ RReISned:

1. The students should legibly write Section number along with question numbers.
QTPETD ,va.zgmwom’ gt ﬁaﬂgaﬁ&g Fgon edaneies.

2. The answer without Section number and question numbers will not be valued.
Qg Fogj S &Y TP VIV, FAPGAOIRDYOY.

3. The question numbers should be legibly written with in margin only.
T Tt Zgwen SREFTY 93 woabeles.

SECTION -1
PIACY S |

I Select the most appropriate answer from the options provided ONE mark each: 10 x1 = 10
II. & 3ns e!a:gn‘?od HooxRe LFoTL, o4 206200, TR womd eoF:

I- 1) The period of assessment year is
a) 1% January to 31% December  b) 1% April to 31% March
¢) 1% April to 31% December d) 1% July to 30" June
I- 2) Income from the rent of agricultural land is
a) agricultural income b) casual income
c) business income d) professional income
I- 3) Every year the residential status of an assessee
a) may change b) will certainly change
c) will not change d) None of these
I- 4) Inwhich of the section of Income Tax Act exempted incomes have been mentioned?
a) Sec2 . b) Sec 10
c) Sec80 d) Sec16

1- 5) Hostel alliance for two children at T 500 p.m per chil;l. The taxable hostel allowance
is
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a) T4,800 b) 5,000
©) T6,000 d) 6,200

I- 6) A big car is provided for official as well as personal use, fj¢ running and maintenancc
cost are borne by the employer. Value of perquisite will be¥

a) T 28,000 b) 28,200

c) T 28,400 d) ¥ 28,800
I- 7) Maximum deduction is allowed w/s 80 C is

a) ¥1,00,000 b) ¥1,50,000

¢) <2,00,000 d) ¥2,50,000

I- 8) Basic salary ¥ 50,000 p.m, DA ¥ 10,000 p.m, HRA ¥ 10,000 p.m. and Actual rent
paid T 12,000 p.m. Taxable HRA will be

a) ¥ 32,000 b) ¥ 34,000
¢) ¥ 36,000 d) X 38,000

I- 9) A Government employee received salary ¥ 10,000 p.m and entertainment allowance
1,000 p.m. during the previous year then he is entitled to get deduction w/s 16 (ii) is

2) T 10,000 b) T 6,000
)T 5,000 d)% 7,500

I- 10) Mr Suresh is an employee in a bank at Bengaluru (population is more than 25 lakhs)
drawing a basic salary of ¥ 25,000 p.m. He has been provided with rent frec
accommodation. Taxable value of accommodation is

a) ¥50,000 b) 48,000
c) 46,000 d) T45,000
SECTION - 11
III. Answer any FIVE of the following questions. THREE marks each: 5x3=15

II-1) Write a note on PAN
II-2) What is agricultural income?
II-3) Whatis TDS?
II-4) Mr Suresh is a government employee. His salary details for the previous year 2022-23
are as follows:
a) Salary at¥ 16,500 p.m.
b) DA at ¥ 6000 p.m.
c) Entertainment allowance at ¥ 1,500 p.m
Compute his net income from salary for the A.Y 2023-24. Conid............ 3
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I-5) Shri Ramu who was born and brought up in India, went for the Studies to the UK on 1*
March 2021 and came back to India on 1% October 2022 early in the morning. computer
his residential status for the Assement Year 2023-24.

I[-6) Mr Shobith is getting a pension of T 8000 p-m. from a compMly. During the previous
year he got his three fourth ( %"‘) pension commuted and received T 7,20,000.
Compute exempt amount assuming if he also received gratuity.

II-7) The gross total income of Mrs Hema amounted to T 8,00,000 in the previous year
ending on 31-3-2023. She has made the following donations by cheques.

a) Prime minister’s National Relief Fund % 50,000

b) Gujarat earthquake relief fund 20,000
¢) P.M. National drought relief fund % 15,000
d) Rajiv Gandhi foundation % 30,000

computer Hema’s total income for the year A.Y 2023-24.

II-8) Compute the value of the perquisite of Motor Car provided to the employee and owned
by the employer in the following cases.
a) Large Car : All expenses are borne by the employer. the car is solely used for
official purposes.

b) Large Car: All expenses are borne by the employer which is ¥ 60,000 during
the previous year. Cost of car ¥ 2,80,000. The car is solely used
for private purposes of the employee.

c) Large Car:  Meant for both private and official use. All expenses borne by the

employer.
SECTION - III
1V.  Answer any THREE of the following questions, FIVE marks each: 3x5=15

IIT- 1) Explain briefly the various canons of Taxation.
II- 2) Write any 10 exempted incomes /s 10 of the Income Tax Act 1961.
III- 3) From the following particulars calculate deduction w/s 80C

g

a) Contribution to RPF 40,000
b) Contribution to your URPF 50,000
c) LIP (Life insurance premium) on married

daughter’s life

(some assured 3,00,000 policy taken in 2017) 40,000
[d) Deposit in Sukanya Samriddi account 30,000
) Interest paid on housing loan . 80,000
f) Purchase of NSE VIII issue 10,000
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lg) Payment of tuition fees 20,000
th)  Group insurance premium paid 1,200
i) Repayment of housing loan 30,000
j) Contribution to family benefit fund 20,000%

III - 4) The following are the particulars of the income of Mr Rajesh for the prevtous year
ended on 31-03-23.

a) Salary T 45,000 p.m.

b) Bonus equal to two months pay

¢) Dog allowance T 750 p.m.

d) Special allowance ¥ 600 p.m.

e) Employees contribution to a RPF @ 15% of salary

f) Employers contribution to GRPF @ 15% of salary

g) Interest credited to the provident fund @ 9.5% p.a. is T 28,000

h) Heis provided with free lunch in the office. The cost per meal is ¥ 30

i) The employer has given him a small car which he uses for personal and official
purposes. He meets the expenses for the personal purpose out of his pocket.

Compute the income from salary of Mr. Rajesh for the assessment year 2023 — 24.

III- 5) Mr Sitaram was an employee in a company, who is not covered under the payment of
Gratuity Act. The following particulars are available regarding his income for the year
ending 31-03-23.
a) Salary @ 47,000 p.m.
b) Dearness allowance @ 3,000 per month under the terms of employment.
c) He retired from service on 1-1-2023 after 32 years of completed service and
received a pensions of T 25,000 per month and gratuity of T 8,20,000.

Compute the taxable income under the head ‘salaries’ of Mr. Sitaram for the A.Y. 2023
— 24, assumingthat salary and pension is due on the last day of the month.

SECTION -

V. Answer the following questions, TEN marks each: 2x10=20

VI- 1) State various types of provident fund. Explain the income tax provisions relating to

them.

OR
Mr ‘X’ an employee in a company in Bhopal. (population exceeds 25 lakh) is drawing
¥ 40,000 p.m. as salary and dearness allowance @ 20% of his salary. He is also getting

City compensatory allowance of ¥ 4,000. Medical allowance ¥ 6,000 bonus ¥ 16,000 and
commission T 4,000. He is provided with a rent free unfurnished house owned by the

Contd............ 5
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employer of the fair rental value of ¥ 60,000 per annum. He is p;ovided free of charge a
sweeper and cook whose wages are ¥ 300 p.m and ¥ 700 p.m respectively and a gardener
whose wages are ¥ 250 p.m. He is also given free electricity for personal use for which
the employer has paid ¥ 6,000 during the year to electricity supp! mpany.

Compute his taxable salary for the Assessment year 2023 — 24,
VI - 2) How do you determine residential status of an individual assesse?
OR

From the following income for Mr Veera for the previous year 2022 — 23, compute Gross
Total Income. If he is a) OR b) NOR ¢) NR

a) Income from agriculture in Mysore, received in USA ¥ 1,00,000
b) Profit from business in Iran, received in India ¥ 50,000

¢) Dividend received from Indian company ¥ 10,000

d) Post untaxed foreign income brought to India during p.y. ¥ 25,000
€) Income from property in Canada, received there T 30,000

f) Gift from relative received in foreign currency ¥ 1,00,000

g) Salary received in India, service rendered in UK ¥ 50,000

h) Gift received in India from a friend in Canada ¥ 10,000

i) Income from business in Japan being controlled from Bengaluru
(50% received in India) ¥ 2,00,000

j) Interest on post office SB account T 2,500.
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